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k
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+
34
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+
52
+
63
)
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00
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0
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1 
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3
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9
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1
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)
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0
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97
5
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0
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+
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0
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8
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9
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)
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0

0
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0
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)
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57

0
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)
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7
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0
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5
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0

0
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0
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0

0
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0
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0

0
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0
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6
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92
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3
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8
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3
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K
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k

#
M
eg
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ve
zé
s

E
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de
ti
el
ői
rá
ny
za
t

M
ód
os
ít
ot
te
lő
ir
án
yz
at

K
öv
et
el
és
-
K
öl
ts
ég
ve
té
si
év
be
n
es
ed
ék
es

K
öv
et
el
és
-
K
öl
ts
ég
ve
té
si
év
et
kö
ve
tő
en
es
ed
ék
es

T
el
je
sí
té
s

2
3

4
5

6
7

8

18
3

K
és
zl
et
ér
té
ke
sí
té
s
el
le
né
rt
ék
e
(B
40
1)

50
 0
00

61
5 
46
1

95
3 
47
8

0
61
5 
46
1

18
4

S
zo
lg
ál
ta
tá
so
k
el
le
né
rt
ék
e
(>
=
18
5+
18
6)
(B
40
2)

26
 4
30
 0
00

26
 0
25
 3
01

27
 6
55
 7
11

0
25
 5
52
 8
03

18
5
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bő
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tá
rg
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es
zk
öz
ök
bé
rb
ea
dá
sá
bó
ls
zá
rm
az
ó
be
vé
te
l(
B
40
2)

0
0

0
0

3
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8
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0
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7

K
öz
ve
tí
te
tt
sz
ol
gá
lt
at
ás
ok
el
le
né
rt
ék
e
(>
=
18
8)
(B
40
3)

25
0 
00
0

34
2 
23
8

36
9 
19
5

0
34
2 
23
8

19
6

E
ll
át
ás
id
íj
ak
(B
40
5)

1 
20
7 
31
4 
00
0

1 
20
7 
31
4 
00
0

1 
23
8 
62
4 
48
5

0
1 
19
5 
65
3 
90
6

19
7

K
is
zá
m
lá
zo
tt
ál
ta
lá
no
s
fo
rg
al
m
ia
dó
(B
40
6)

6 
11
0 
00
0

6 
06
6 
00
0

6 
42
5 
57
8

0
5 
93
7 
98
1

19
8

Á
lt
al
án
os
fo
rg
al
m
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dó
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té
rí
té
se
(B
40
7)

0
83
1 
00
0
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1 
00
0

0
83
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3
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éb
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m
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m
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k
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m
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0
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8
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k
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0
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#
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E
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za
t

M
ód
os
ít
ot
te
lő
ir
án
yz
at

K
öv
et
el
és
-
K
öl
ts
ég
ve
té
si
év
be
n
es
ed
ék
es

K
öv
et
el
és
-
K
öl
ts
ég
ve
té
si
év
et
kö
ve
tő
en
es
ed
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es

T
el
je
sí
té
s

2
3

4
5

6
7

8
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E
lő
ző
év
kö
lt
sé
gv
et
és
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ar
ad
vá
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án
ak
ig
én
yb
ev
ét
el
e
(B
81
31
)

0
6 
06
7 
11
0

6 
06
7 
11
0

0
6 
06
7 
11
0

13
M
ar
ad
vá
ny
ig
én
yb
ev
ét
el
e
(=
11
+
12
)
(B
81
3)

0
6 
06
7 
11
0

6 
06
7 
11
0

0
6 
06
7 
11
0
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K
öz
po
nt
i,
ir
án
yí
tó
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tá
m
og
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ás
(B
81
6)

2
57
8
43
6
00
0

3
11
0
39
7
22
6

2
82
8
58
7
91
3

0
2
82
8
58
7
91
3
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B
el
fö
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in
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sz
ír
oz
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be
vé
te
le
i(
=
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+
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+
13
+
…
+
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+
21
)

(B
81
)

2 
57
8 
43
6 
00
0

3 
11
6 
46
4 
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6

2 
83
4 
65
5 
02
3

0
2 
83
4 
65
5 
02
3
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F
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ír
oz
ás
ib
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el
ek
(=
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+
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+
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+
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)
(B
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2
57
8 
43
6 
00
0

3 
11
6 
46
4 
33
6

2 
83
4 
65
5 
02
3
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4 
65
5 
02
3
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-
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nk
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t

#
M
eg
ne
ve
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s

Ö
ss
ze
se
n

01
80
30
T
ám
og
at
ás
ic
él
ú

fi
na
ns
zí
ro
zá
si
m
űv
el
et
ek

09
50
20
Is
ko
la
re
nd
sz
er
en
kí
vü
li
eg
yé
b

ok
ta
tá
s,
ké
pz
és

10
20
23
Id
ős
ko
rú
ak
ta
rt
ós
be
nt
la
ká
so
s

el
lá
tá
sa

10
20
24
D
em
en
s
be
te
ge
k
ta
rt
ós

be
nt
la
ká
so
s
el
lá
tá
sa

90
00
90
V
ál
la
lk
oz
ás
it
ev
ék
en
ys
ég
ek

ki
ad
ás
ai
és
be
vé
te
le
i

99
99
99
K
or
m
án
yz
at
if
un
kc
ió
ra
fe
l

ne
m
os
zt
ot
tt
ev
ék
en
ys
ég
ek
ki
ad
ás
ai

és
be
vé
te
le
i

01
T
ör
vé
ny
sz
er
in
ti
il
le
tm
én
ye
k,
m
un
ka
bé
re
k

(K
11
01
)

1 
92
8 
86
4 
20
7

0
1 
00
4 
42
6

1 
23
3 
06
4 
27
1

69
4 
20
0 
92
5

59
4 
58
5

0

02
N
or
m
at
ív
ju
ta
lm
ak
(K
11
02
)

17
5 
49
6 
00
0

0
0

11
2 
28
2 
34
0

63
 2
13
 6
60

0
0

03
C
él
ju
tt
at
ás
,p
ro
je
kt
pr
ém
iu
m
(K
11
03
)

16
1 
00
1

0
0

10
3 
00
8

57
 9
93

0
0

04
K
és
ze
nl
ét
i,
üg
ye
le
ti
,h
el
ye
tt
es
ít
és
id
íj
,t
úl
ór
a,

tú
ls
zo
lg
ál
at
(K
11
04
)

71
 2
87
 4
55

0
0

45
 6
09
 7
15

25
 6
77
 7
40

0
0

05
V
ég
ki
el
ég
ít
és
(K
11
05
)

1 
17
0 
74
4

0
0

74
9 
04
3

42
1 
70
1

0
0

06
Ju
bi
le
um
ij
ut
al
om
(K
11
06
)

6 
36
2 
18
5

0
0

4 
07
0 
52
8

2 
29
1 
65
7

0
0

07
B
ér
en
kí
vü
li
ju
tt
at
ás
ok
(K
11
07
)

96
 0
86
 5
62

0
0

61
 4
76
 1
82

34
 6
10
 3
80

0
0

09
K
öz
le
ke
dé
si
kö
lt
sé
gt
ér
ít
és
(K
11
09
)

19
 8
74
 1
91

0
0

12
 7
15
 5
09

7 
15
8 
68
2

0
0

12
S
zo
ci
ál
is
tá
m
og
at
ás
ok
(K
11
12
)

27
0 
00
0

0
0

17
2 
74
6

97
 2
54

0
0

13
F
og
la
lk
oz
ta
to
tt
ak
eg
yé
b
sz
em
él
yi
ju
tt
at
ás
ai

(>
=
14
)
(K
11
13
)

65
99
5
06
9

0
0

42
22
3
64
6

23
77
1
42
3

0
0

15
F
og
la
lk
oz
ta
to
tt
ak
sz
em
él
yi
ju
tt
at
ás
ai

(=
01
+
…
+
13
)
(K
11
)

2 
36
5 
56
7 
41
4

0
1 
00
4 
42
6

1 
51
2 
46
6 
98
8

85
1 
50
1 
41
5

59
4 
58
5

0

17
M
un
ka
vé
gz
és
re
ir
án
yu
ló
eg
yé
b
jo
gv
is
zo
ny
ba
n

ne
m
sa
já
tf
og
la
lk
oz
ta
to
tt
na
k
fi
ze
te
tt
ju
tt
at
ás
ok

(K
12
2)

1 
56
5 
07
2

0
0

1 
00
1 
33
2

56
3 
74
0

0
0

18
E
gy
éb
kü
ls
ő
sz
em
él
yi
ju
tt
at
ás
ok
(K
12
3)

3 
56
2 
57
8

0
0

2 
27
9 
33
8

1 
28
3 
24
0

0
0

19
K
ül
ső
sz
em
él
yi
ju
tt
at
ás
ok
(=
16
+
17
+
18
)
(K
12
)

5 
12
7 
65
0

0
0

3 
28
0 
67
0

1 
84
6 
98
0

0
0

20
S
ze
m
él
yi
ju
tt
at
ás
ok
(=
15
+
19
)
(K
1)

2 
37
0 
69
5 
06
4

0
1 
00
4 
42
6

1 
51
5 
74
7
65
8

85
3 
34
8 
39
5

59
4 
58
5

0

21
M
un
ka
ad
ók
at
te
rh
el
ő
já
ru
lé
ko
k
és

sz
oc
iá
li
s
ho
zz
áj
ár
ul
ás
ia
dó
(=
22
+
…
+
27
)

(K
2)

34
4 
70
2 
18
2

0
13
0 
57
4

22
0 
40
7
46
2

12
4 
08
6 
85
0

77
 2
96

0

22
eb
bő
l:
sz
oc
iá
li
s
ho
zz
áj
ár
ul
ás
ia
dó
(K
2)

29
8 
47
3 
40
2

0
13
0 
57
4

19
0 
83
0 
28
7

10
7 
43
5 
24
5

77
 2
96

0

23
eb
bő
l:
re
ha
bi
li
tá
ci
ós
ho
zz
áj
ár
ul
ás
(K
2)

23
82
2
00
0

0
0

15
24
1
31
7

8
58
0
68
3

0
0

25
eb
bő
l:
tá
pp
én
z
ho
zz
áj
ár
ul
ás
(K
2)

9 
20
3 
06
4

0
0

5 
88
8 
12
0

3 
31
4 
94
4

0
0

27
eb
bő
l:
m
un
ká
lt
at
ót
te
rh
el
ő
sz
em
él
yi

jö
ve
de
le
m
ad
ó
(K
2)

13
 2
03
 7
16

0
0

8 
44
7 
73
8

4 
75
5 
97
8

0
0

28
S
za
km
ai
an
ya
go
k
be
sz
er
zé
se
(K
31
1)

13
2
87
4
46
9

0
0

85
01
3
08
5

47
86
1
38
4
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A
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gv
et
és
ie
gy
en
le
ge
(=
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ve
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ze
tt
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st
at
is
zt
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ai
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ve
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és
ze
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ét
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ye
le
ti
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et
te
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si
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j,
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ló
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ls
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ál
at

V
ég
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el
ég
ít
és
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ub
il
eu
m
i
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ta
lo
m

B
ér
en
kí
vü
li
ju
tt
at
ás
ok

K
öl
ts
ég
té
rí
té
se
k

T
ám
og
at
ás
ok

F
og
la
lk
oz
ta
to
tt
ak
eg
yé
b

sz
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él
yi
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tt
at
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ai

V
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as
zt
ot
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zt
sé
gv
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tt
at
ás
ai

1
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4

5
6

7
8

9
10

11
12
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ig
az
ga
tó
(f
ői
ga
zg
at
ó)
,

ig
az
ga
tó
he
ly
et
te
s
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zg
at
ó-
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ly
et
te
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áb
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m
ag
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ze
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1
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0
00
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fő
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os
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os
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5
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os
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os
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0
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+
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l

N
em
ve
ze
tő
il
ét
sz
ám
kö
zé
pf
ok
ú

vé
gz
et
ts
ég
ge
l

N
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l

N
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ó
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M
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#
M
eg
ne
ve
zé
s

E
lő
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id
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k

M
ód
os
ít
ás
ok
(+
/-
)

T
ár
gy
ii
dő
sz
ak

1
2

3
4

5

01
A
/I
/1
V
ag
yo
ni
ér
té
kű
jo
go
k

4 
75
2 
87
1

0
5 
50
9 
13
4

04
A
/I
Im
m
at
er
iá
li
s
ja
va
k
(=
A
/I
/1
+
A
/I
/2
+
A
/I
/3
)

4 
75
2 
87
1

0
5 
50
9 
13
4

05
A
/I
I/
1
In
ga
tl
an
ok
és
a
ka
pc
so
ló
dó
va
gy
on
ié
rt
ék
ű
jo
go
k

3 
40
9 
23
8 
84
6

0
3 
36
1 
01
1 
93
6

06
A
/I
I/
2
G
ép
ek
,b
er
en
de
zé
se
k,
fe
ls
ze
re
lé
se
k,
já
rm
űv
ek

10
7 
35
6 
01
5

0
12
1 
34
4 
63
4

10
A
/I
I
T
ár
gy
ie
sz
kö
zö
k
(=
A
/I
I/
1+
...
+
A
/I
I/
5)

3 
51
6 
59
4 
86
1

0
3 
48
2 
35
6 
57
0

29
A
)
N
E
M
Z
E
T
I
V
A
G
Y
O
N
B
A
T
A
R
T
O
Z
Ó
B
E
F
E
K
T
E
T
E
T
T
E
S
Z
K
Ö
Z
Ö
K

(=
A
/I
+
A
/I
I+
A
/I
II
+
A
/I
V
)

3 
52
1 
34
7 
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2

0
3 
48
7 
86
5 
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4

30
B
/I
/1
V
ás
ár
ol
tk
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zl
et
ek
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 9
03
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77

0
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B
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+
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)
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 9
03
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0
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66
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)
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T
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Z
Ó
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Ó
E
S
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Z
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K
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B
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B
/I
I)
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90
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7

0
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1
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C
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1
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1 
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I
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4
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9
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/I
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ts
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si
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be
n
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ed
ék
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ve
te
lé
se
k
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öd
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ib
ev
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el
re
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D
/I
/4
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…
+
D
/I
/4
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23
 1
67

0
46
 9
26
 1
31
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D
/I
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a
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bő
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et
és
ié
vb
en
es
ed
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se
k
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le
né
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ér
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ol
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lt
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rt
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ér
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rt
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ér
e
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b
m
űk
öd
és
ib
ev
ét
el
ek
re

1 
19
2 
24
5

0
1 
00
0 
07
3

10
3

D
/I
K
öl
ts
ég
ve
té
si
év
be
n
es
ed
ék
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+
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+
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dó
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E
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0
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8
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